3 7 5
( )-10 -1
( )-10
16, 300, 000 179,000 /
1
(D 3 1 (4 3 7 2 (6)|1 3 1] 145,000 /
(2) 3 15 (5)
(3)
2
(D 91
()] (
( 40, 80)
(1)
11 4. 5m ( )
2 1. 3km
(2) 100 100 60 130
10 10 100
3 1
1. 3km ( 40§ 80>)
(3 (4) +2.0
179,000 /
(%)
/
/
/
(6)
(7
(8) (| - 0.0 +2.0
0.0 -3.0
-17 (1) 0.0 +2.0
[100.0]| 100 100 [ 102.0] 179, 000 %8 8'8
179,000 / 100 |[ 101.0]|[ 100.9]| 100 ' 0.0 :
(9 0.0 -1.0
0.0 +3.0
()-15 (1) 0.0 +30.0
[ 100.0]| 100 100 |[ 102.0] 178 000 +g'8 8‘8
241,000 / 100 |[ 104.01|[ 132.6]| 100 : 0.0 :
(10) -1
- ]
177,000 /
-2
1 1
/
+1.1 |




